05900 RIERH HEEBB KFERN-FERE-AJ @R ZH

7= miiEA

ME
M,
RELRIEF,
TPEMHIZ %R,

I
AL MBEELAE,

B
EmRGREPEH, TAXARIERE—R, #EUVRIENETE
BN THREREN. BNEARIFEZLBH,

R4

05280 IR 18

05880 Z#&EX R

05899 A FHRIEFR ZH H & Bes
07110 RiwIKFE ZiRie
07117 WARXRZFH

07120 #TAFE k124 DIN 6332
07121 T ERK TRATIE L 1848
07140 EMI DIN 6311

07142 ER

® @
D D
B6
1 R
== SIS e
w| § ®| & o [
&= &P
R ol A3
A2 Az

~B1 A A

© norelem www.norelem.com



05900 fRIEFH L EERP KT EEX-FIEEE- ] EREH

XkfFH W kEFH  REH XKD REZRITHS
F1 F2 F3 F4
N N N N
05900-006102 3 05880-04
05900-008102 3 86° 67° 200 2000 2800 830 1400 05880-04
05900-010102 3 90° 71° 250 2200 4500 1200 2800 05880-06
05900-012102 4 88° 68° 280 2400 5500 1000 2800 05880-06

05900-006102 M6x35 | 26 |39|6,5| - | - |28|39] 175 12,5|23|25|534 254| - |55| 637 | 59,6 | 193,3 | 60,5
05900-008102 M8x45 | 26 |44| 9 | - | - [31]45] 21 16 |24|25]|51,1 322| - |62| 739 | 70,1 | 230,4 | 74,9
05900-010102 M10x55 | 41,5 59|8,5| - | - |43[59| 26 19 |39[3,5|565 40 | - |8,8]| 948 88 286 | 103,9
05900-012102 M12x70 | 44 | 65|10 |40| 1 |42|67| 28 21 |40|3,5|56,56 52,3 |13,5|8,5| 104,8 | 101,6 | 321,3 | 122

© norelem www.norelem.com



